
2× Table Search
1. 	 Write out your 2x table below

0 × 2 = 
1 × 2 = 
2 × 2 = 
3 × 2 = 

5 × 2 = 

9 × 2 = 

12 × 2 = 
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2. 	 Find the sets of three numbers from your 2x table number sentences.  	
	 Colour them in. They may be horizontal, vertical or diagonal and in 	
	 any direction. Write the number sentences on the lines below, as you 	
	 find each set of three. One is done for you as an example.

5 2 6 9 2 18 21 3 2 6

2 7 0 17 1 5 6 18 22 3

10 5 2 2 4 0 8 2 16 12

14 3 10 26 11 2 7 29 1 2

11 2 22 1 30 2 9 4 8 24

24 3 12 0 7 1 20 30 2 26

19 2 8 2 2 8 2 24 0 8

6 45 29 0 14 3 10 2 16 9
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Maths | Year 3 | Multiplication and Division | Applying the Facts

4 × 2 = 8                                                                                               
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2× Table Search Answers
1. 	 Write out your 2x table below

0 × 2 = 0

1 × 2 = 2

2 × 2 = 4

3 × 2 = 6

4 × 2 = 8

5 × 2 = 10

6 × 2 = 12

7 × 2 = 14

8 × 2 = 16

9 × 2 = 18

10 × 2 = 20

11 × 2 = 22

12 × 2 = 24
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2. 	 Find the sets of three numbers from your 2x table number sentences.  	
	 Colour them in. They may be horizontal, vertical or diagonal and in 	
	 any direction. Write the number sentences on the lines below, as you 	
	 find each set of three. One is done for you as an example.

5 2 6 9 2 18 21 3 2 6

2 7 0 17 1 5 6 18 22 3

10 5 2 2 4 0 8 2 16 12

14 3 10 26 11 2 7 29 1 2

11 2 22 1 30 2 9 4 8 24

24 3 12 0 7 1 20 30 2 26

19 2 8 2 2 8 2 24 0 8

6 45 29 0 14 3 10 2 16 9

2× Table Search Answers
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0 x 2 = 0                                                                                             

1 x 2 = 2

2 x 2 = 4

3 x 2 = 6                                           

4 x 2 = 8

5 x 2 = 10                                                   

6 x 2 = 12

7 x 2 = 14

8 x 2 = 16

9 x 2 = 18

10 x 2 = 20

11 x 2 = 22

12 x 2 = 24
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